



The Distributive Property 

REMEMBER: 
A negative times a positive gives a negative (so red times blue gives blue)




A negative times a negative gives a positive (so blue times blue gives red)

EX/ Use algebra tiles to find the size of the resulting rectangle. Look for patterns.
a) 3(x + 2)

b) 2(q – 1)

c) x(2x – 1)

d) (m + 2)( –2)
e) –1(x + 3)


=_____________
=_____________
=_____________
=_____________
=____________

f) –4(g – 1)

g) 2x(x + 3)

h) 3(2 – x)

i) (–2 – 2x)(2)

j) (–3)( –p – 1)

=_____________
=_____________
=_____________
=_____________
=____________


The distributive property states that:





a(x + y) = ax + ay

EX/ Expand and simplify without algebra tiles.

a) 3(3 + 2x)





b) –2(x – 4)





c) x(x – 4)





d) (x + 2)(2)




 

e) (p2 – 2p –1)(–1)




f)   3(x + 2) + 2(5 – x)


g) 3p(p + 2) – 2(p2 – 3p)



h) 3x(x2 + 5x – 4)







